## CS/CTI24120349/Avh3

AS	SIGNMENT
Frome Date:	Veh No: SWN1160A. YF Regn: 2003/ NOV
Estin 🚁 čásilost	Type: M.Car JW.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /
OD / TENS/IP RES / OD RES / EVA / INV / MV	Truck / Trailer or
To In Eilehide No:	Make: Mazda 3 landrid a.o 1496
at Work Shimle	Colour Grey, A/C: Insured / Std / NI / NA
of the codes of th	Sp.Reading T/Radio: Insured / Std / NT / NA
Insured:	Eng/No:
Policy fla.	C/NO: JM6BP25AAP1153439.
Claimes No. SNM24D207122	Gen. Cond. Good Fair / Poor / Burnt
Sum Ens Uisi Excess: 2000	Steering: Increer / Jammed / Leaked / Burnt or
(Client's Papord)	Brake: Increer / Jammed / Leaked / Burnt or
Make of Value	Modi: Nil / S/Rim / STD A/Rim or
*20	Tyre Size: F: 205. 6 8 R 16
(Policy Condition)	R: 205/60R16
Remark: The veh had commenced its N/S O/S repair at the time of inspection.	- DO / BOTT EATEN A / AT I A / I MA / STITUS / I ACT OF ALL
	TOYO YORO DI
Bal. or I/Carlet Value:  IDAC Accident Roort: Consistent? : Yes or No	Front Rear R/Bal. Ob mm
IDAC Accident Rport:Consistent? : Yes or No  GIA / PR Seen: Consistent? : Yes or No	L/Bal. U/Bal. U/Bal. mm
Est. Repairs days Res.: Yes or No	D.O.A. 15/12/2024 D.O.L. 74 12/29
Lum Sum: % 3 Val.: Yes or No	Survey held at Posh Autoworkz.
CA / REV / REP. / 24 HRS	Des. of Damages (Frt) Rear 1 O/S / N/S / U/C / Rooftop or
· Vehicle: IN / O	
Date: Person Contacted:	The U/C / Chassis frame / Body Structure affected due to collision.
Date / Time   Action / Instruction	COE Expiry:
23/4/25 Adrian confirmed LS \$38,000 (re	. /
20/ 1/20 / Marian commission 20 \$66,000 (10	Estimate given during : Yes ()
mv : 130K	1st Sucrey . No ()
PY: 88.9K	REQUESTS AND REPORT OF THE PROPERTY OF THE PRO
Nett: Al-IK	MATCH SWAH BW BY CHILDRING SHEROUT OF SCHALDROSCHARS
	V2 0 8
	429161
Daterina, File Pass to? : Preli. Report	Days Of Repair: 24
1) : Final Report	Resurvey No. of Trip: Survey Fee:
Date/line, File.Return to?	Transportation:
-) ,366	Fee: Site Insp (\$ )s+Rssis. Interview (\$ ) Photos
F. sport Format:	: Tech Inve (\$ ) Others
L pagin France FER F (CE)	

**SNN1160A** 

## 8 KAKI BUKIT AVENUE 4 , #02-24, S415875



/EHICLE NO:

AKE/MODEL:

MAZDA3 4DR 1.5 AT M-HYBRID CLASSIC 12

MFG YEAR: **CHASSIS NO:** 

JM6BP2SAAP1153439

## **ESTIMATE**

ESTIMA	_		
21270	CTY	UNIT PRICE	GROSS PRICE
PARTS  1 FRONT WINDSCREEN GLASS Lt	1	\$1,050.00	\$1,050.00
2 FRONT WINDSCREEN GLASS MOULDING NEC	1	\$170.00	\$170.00
2 FRONT WINDSCREEN GLAGE MIGGEL	1	\$850.00	\$850.00
3 BONNET DISTORTO	1	\$100.00	\$100.00
4 BONNET HINGE LH & Best	1	\$100.00	\$100.00
5 BONNET HINGE RH	1	\$255.00	\$255.00
6 BONNET INSULATOR Complete	1	\$78.00	\$78.00
7 BONNET STAND Are M	1	\$85.00	\$85.00
8 BONNET LOCK CATCH	1	\$160.00	\$160.00
9 BONNET LOCK Desid	1	\$35.00	\$35.00?
10 BONNET LOCK COVER	1	\$95.00	\$95.00 ?
11 BONNET LOCK CABLE ?	1	\$76.00	\$76.00
12 BONNET SEAL ext	1	\$1,950.00	\$1,950.00
13 HEADLAMP LH ?	1	\$1,950.00	\$1,950.00
14 HEADLAMP RH	1	\$600.00	\$600.00
15 HEADLAMP ECULH ZAGE NEW	1	\$600.00	\$600.00
16 HEADLAMP ECU RH J	1	\$86.00	\$86.00
17 FRONT GRILLE LOGO GMISSIN	1	\$78.00	\$78.00
18 FRONT GRILLE LOGO BASE	1	\$600.00	\$600.00
19 FRONT GRILLE Smishe.	1	\$115.00	\$115.00
20 FRONT GRILLE CHROME LH Fent	1	\$115.00	\$115.00
21 FRONT GRILLE CHROME RH ( / /	1	\$340.00	\$340.00
22 EPONT GRILLE BASE Solusive	1	\$250.00	\$250.00
23 FRONT GRILLE BRACKET Could	1	\$86.00	\$86.00
24 FRONT TOW COVER 7	1	\$78.00	\$78.00
25 FRONT BUMPER TOP SEAL	1	\$160.00	\$160.00
26 FRONT BUMPER TOP PANEL 2 Dictored	1	\$850.00	\$850.00
TO THE PERSON OF	1	\$195.00	\$195.00
28 FRONT BUMPER LOWER GRILLE Smushed	1	\$130.00	\$130.00
29 FOGLAMP COVER ?	1	\$200.00	\$200.00
30 FOGLAMP	1		\$190.00
31 FRONT PARKING SENSOR CTR LH ?	1	\$190.00	\$190.00
32 FRONT PARKING SENSOR CTR RH ?	1	\$190.00	
33 FRONT PARKING SENSOR LH ZMW	1	\$190.00	
24 FRONT PARKING SENSOR RH	1	\$190.00	1
35 FRONT PARKING SENSOR BRACKET	4	\$35.00	
36 FRONT BUMPER SIDE RETAINER LH 2	1	\$75.00	275.00
37 FRONT BUMPER SIDE RETAINER RH	1	\$75.00	\$75.00

38 FRONT BUMPER BRACKET LH 2 Dand	1	\$70.00	\$70.00
39 FRONT BUMPER BRACKET RH	1	\$70.00	\$70.00
40 FRONT BUMPER SPONGE ?	1	\$95.00	\$95.00
41 FRONT BUMPER REINFORCEMENT PIStorted	1	\$480.00	\$480.00
42 FRONT BUMPER LOWER BEAM	1	\$285.00	\$285.00
43 FRONT FENDER LH 2	1	\$350.00	\$350.00 \(\nabla\)
44 FRONT FENDER RH 194	1	\$350.00	\$350.00 🗶
45 FRONT FENDER EMBLEM LH 2	1	\$100.00	\$100.00 V
46 FRONT FENDER EMBLEM RH	1	\$100.00	\$100.00 ~
47 FRONT FENDER COWLING LH	1	\$180.00	\$180.00
48 FRONT FENDER COWLING RH	1	\$180.00	\$180.00
49 FRONT FENDER COWLING EXTENSION LH ?	1	\$78.00	\$78.00 ?
50 FRONT FENDER COWLING EXTENSION RH ?	1	\$78.00	\$78.00
51 FRONT FENDER COWLING MUDFLAP LH 7	1	\$115.00	\$115.00 7
52 FRONT FENDER COWLING MUDFLAP RH ?	1	\$115.00	\$115.00
53 FRONT FENDER TOP GARNISH RH 2	1	\$95.00	\$95.00 ~
54 FRONT FENDER END INSULATOR RH	1	\$100.00	\$100.00
55 FRONT FENDER END COVER RH	1	\$78.00	\$78.00
56 EPONT SUPPORT DISTOR	1	\$590.00	\$590.00
57 FRONT SUPPORT TOP GARNISH Distorted	1	\$85.00	\$85.00
58 AIR DEFLECTOR (BCKC50A20B	1	\$200.00	\$200.00?
59 AIR INTAKE COVER (BCKA507M0A	1	\$230.00	\$230.00
60 AIR DUCT ?	1	\$140.00	\$140.00
61 HORN	1	\$160.00	\$160.00 7
62 FRONT WIPER TANK 2	1	\$170.00	\$170.00?
63 FRONT WIPER TANK MOTOR ?	1	\$115.00	\$115.00?
64 FRONT WIPER TANK NECK	1	\$85.00	\$85.00 ?
65 FRONT WIPER TANK CAP HE W	1	\$35.00	\$35.00 *
66 AIRCON CONDENSER DISEAL	1	\$1,100.00	\$1,100.00
67 AIRCON COMPRESSOR	1	\$1,200.00	\$1,200.00
68 PIPE - COMPRESSOR / CONDENSER	1	\$420.00	\$420.00
69 PIPE - EVAPORATOR / COMPRESSOR	1	\$500.00	\$500.00
70 PIPE - CONDENSER / EVAPORATOR	1	\$850.00	\$850.00
71 RADIATOR Distorted	1	\$780.00	\$780.00
72 RADIATOR HOSE LH	1	\$100.00	\$100.00
73 RADIATOR HOSE RH 3	1	\$95.00	\$95.00?
	1	\$78.00	\$78.00
74 RADIATOR TOP MOUNTING 75 RADIATOR BOTTOM MOUNTING 76 RADIATOR SIDE GUIDE 7.	1	\$50.00	\$50.00
76 RADIATOR SIDE GUIDE	1	\$75.00	\$75.00 ?
77 RADIATOR SIDE GOIDE	1	\$170.00	\$170.00 ?
78 RADIATOR FAN COWLING ASSEMBLY	1	\$320.00	\$320.00 🤰
	1	\$145.00	\$145.00?
79 EXPANSION TANK	1	\$95.00	\$95.00 ?
80 EXPANSION TANK HOSE	1	\$750.00	\$750.00 ×
81 FUSE BOX New 82 STARTER MOTOR New	1	\$770.00	\$770.00 🗶 ,
	1	\$1,120.00	\$1,120.00
83 ALTERNATOR NO NEW			

84 V-BELT	1	\$95.00	\$95.007
85 AIR FILTER RESONATOR?	1	\$145.00	\$145.00 7
86 AIR FILTER TOP COVER ?	1	\$130.00	\$130.00 ?
87 AIR FILTER HOUSING ?	1	\$230.00	\$230.00 ?
88 AIR FILTER ELEMENT ?	1	\$95.00	\$95.00 ?
89 WATER PUMP	1	\$200.00	\$200.00 ?
90 INTAKE MANIFOLD	1	\$510.00	\$510.00 ?
91 THROTTLE BODY ?	1	\$580.00	\$580.00 7
92 OIL PUMP	1	\$280.00	\$280.00 ?
93 ENGINE MOUNTING LH ?	1	\$315.00	\$315.00 ?
94 ENGINE MOUNTING RH	1	\$250.00	\$250.00 ?
95 ENGINE MOUNTING REAR ?	1	\$240.00	\$240.00?
96 ENGINE MOUNTING BRACKET 7	1	\$160.00	\$160.00 ?
97 ENGINE TOP COVER ?	1	\$230.00	\$230.00
98 UPPER TIMING COVER ?	1	\$250.00	\$250.00 7
99 LOWER TIMING COVER 7	1	\$230.00	\$230.00?
100 PISTON ?	4	\$340.00	\$1,360.00
101 PISTON RING ?	4	\$170.00	\$680.00 ?
102 CONROD ?	4	\$330.00	\$1,320.00
103 CYLINDER HEAD COVER 7	1	\$340.00	\$340.00?
104 CYLINDER HEAD COVER GASKET ?	1	\$280.00	\$280.00 3
105 CYLINDER HEAD ?	1	\$6,800.00	\$6,800.00 ?
106 CYLINDER HEAD GASKET?	1	\$284.00	\$284.00 ?
107 ENGINE BLOCK ?	1	\$9,400.00	\$9,400.00?
108 OIL SUMP 7	1	\$290.00	\$290.00?
109 OIL FILTER 2	1	\$40.00	\$40.00 ?
110 ENGINE UNDER COVER ?	1	\$340.00	\$340.00 ?
111 REAR WINDSCREEN GLASS Shuttered	1	\$900.00	\$900.00
112 REAR WINDSCREEN GLASS MOULDING A	1	\$170.00	\$170.00
113 C-PILLAR TRIMBOARD - UPPER RH	1	\$340.00	\$340.00
114 C-PILLAR TRIMBOARD - LOWER RH	1	\$330.00	\$330.00
115 REAR PARCEL SHELF Cut	1	\$510.00	\$510.00
116 PARCEL SHELF PANEL PASS	1	\$1,120.00	\$1,120.00
117 THIRD BRAKE LIGHT	1	\$250.00	\$250.00 ?
118 BOOTLID Distorted	1	\$1,000.00	\$1,000.00
119 BOOTLID EMBLEM - MAZDA 3	1	\$75.00	\$75.00
120 BOOTLID EMBLEM - HYBRID	1	\$73.00	\$73.00
121 BOOTLID EMBLEM - SKYACTIVE	1	\$73.00	\$73.00
122 BOOTLID LAMP LH PARCE	1	\$520.00	\$520.00
123 BOOTLID LAMP RH	1	\$520.00	\$520.00 ~
124 BOOTLID LOCK 7	1	\$170.00	\$170.00
125 BOOTLID WEATHERSTRIP	1	\$200.00	\$200.00 📉
126 BOOLID TRIM	1	\$340.00	\$340.00 🗶
127 BOOTLID HINGE LH	1	\$95.00	\$95.00 🔀
128 BOOTLID HINGE RH	1	\$95.00	\$95.00
129 TAILLAMP LH RISE MEN	1	\$630.00	\$630.00
A TO SECURITION OF THE PROPERTY OF THE PROPERT			

131 REAR FENDER LH	130	TAILLAMP RH ?	1	\$630.00	\$630.00 7
132 REAR FENDER RH D STO-COL 133 REAR FENDER WHEELHOUSE INNER PANEL RH 134 REAR FENDER WHEELHOUSE OUTER PANEL RH 135 REAR FENDER AIR VENT RH 136 REAR FENDER AIR VENT RH 137 REAR FENDER COWLING RH 137 REAR FENDER COWLING RH 138 REAR BUMPER 139 REAR BUMPER 139 REAR BUMPER PARKING SENSOR 140 REAR BUMPER REFLECTOR RH 141 REAR BUMPER REFLECTOR RH 142 REAR BUMPER REFLECTOR RH 143 REAR BUMPER REFLECTOR RH 144 REAR BUMPER SIDE RETAINER RH 145 REAR BUMPER SIDE RETAINER RH 146 REAR BUMPER SIDE RETAINER RH 157 ROO. 147 REAR BUMPER SIDE RETAINER RH 168 REAR BUMPER SIDE RETAINER RH 178 SHO. 189 SHO. 190 SHO. 190 ON \$150.00 \$ 150.			1	\$1,150.00	\$1,150.00 🗶
133 REAR FENDER WHEELHOUSE INNER PANEL RH 134 REAR FENDER RIWHEELHOUSE OUTER PANEL RH 135 REAR FENDER RIWHER WHEELHOUSE OUTER PANEL RH 136 REAR FENDER RIWHER THIMBOARD RH 137 REAR FENDER RIN WERT THIMBOARD RH 1 \$170.00 \$170.00 \$34			1	\$1,150.00	\$1,150.00
134 REAR FENDER WHEELHOUSE OUTER PANEL RH			- 1	\$640.00	\$640.00 ×
1 578.00			gni	\$600.00	\$600.00
18 REAR FENDER COWLING RH 1			1	\$78.00	\$78.00 -
137 REAR FENDER INNER TRIMBOARD RH  138 REAR BUMPER 15770.00  139 REAR BUMPER PARKING SENSOR 140 REAR BUMPER REFLECTOR RH 141 REAR BUMPER REFLECTOR RH 141 REAR BUMPER REFLECTOR RH 142 REAR BUMPER RIPER TOW COVER 143 REAR BUMPER SIDE RETAINER LH 144 REAR BUMPER SIDE RETAINER LH 145 REAR BUMPER RIPORCEMENT 146 REAR BUMPER RIPORCEMENT 146 REAR BUMPER RIPORCEMENT 147 REAR BUMPER UNDER COVER 148 END PANEL 149 END PANEL TOP GARNISH 150 REAR DOOR BLACK TAPE 151 REAR DOOR BLACK TAPE 152 REAR DOOR BLACK TAPE 153 REAR DOOR WEATHERSTRIP RH 156 FRONT WHEEL RIM 157 FRONT WHEEL RIM 157 FRONT WHEEL RIM 158 FRONT LOWER ARM 159 FRONT SHOCK ABSORBER 159 FRONT SHOCK ABSORBER MOUNTING 150 FRONT SHOCK ABSORBER MOUNTING 151 STABILIZER MOUNTING 152 STABILIZER MOUNTING 153 STABILIZER MOUNTING 154 FRONT DRIVE SHAFT 155 REAR DOOR SHEEL RIM 156 FRONT CROSSMEMBER SUPPORT REINFORCEMENT 157 REAR WHEEL RIM 158 FRONT CROSSMEMBER SUPPORT REINFORCEMENT 159 REAR WHEEL RIM 150 SERON SERONO 150 SERONO 150 SERONO 151 STABILIZER MOUNTING 155 FRONT CROSSMEMBER SUPPORT REINFORCEMENT 156 FRONT CROSSMEMBER SUPPORT REINFORCEMENT 157 REAR WHEEL RIM 158 FRONT CROSSMEMBER SUPPORT REINFORCEMENT 159 REAR WHEEL RIM 150 SERONO 150 SERONO 151 STABILIZER RIM 150 SERONO 151 STABILIZER RIM 151 SEAR WHEEL RIM 152 SERONO 153 STABILIZER RIM 153 REAR BRAKE CALIFER 154 SAGONO 155 SAGONO 156 STABILIZER RIM 157 SAGONO 157 REAR WHEEL RIM 158 SERONO 159 SAGONO 150 SERONO 151 SERON			1	\$170.00	\$170.00 +
138 REAR BUMPER PARKING SENSOR 139 REAR BUMPER PARKING SENSOR 140 REAR BUMPER REFLECTOR LH 141 REAR BUMPER REFLECTOR RH 142 REAR BUMPER RIPLECTOR RH 143 REAR BUMPER SIDE RETAINER LH 143 REAR BUMPER SIDE RETAINER LH 144 REAR BUMPER SIDE RETAINER RH 145 REAR BUMPER SIDE RETAINER RH 146 REAR BUMPER LINDER COVER 1570.00 147 REAR BUMPER UNDER COVER 158 END PANEL 149 END PANEL 149 END PANEL 150 REAR DOOR RH 151 REAR DOOR BLACK TAPE 151 REAR DOOR BLACK TAPE 152 REAR DOOR WEATHERSTRIP RH 155 FRONT WHEEL RIM 156 FRONT WHEEL RIM 157 FRONT WHEEL BEARING 157 FRONT WHEEL HUB 158 FRONT LOWER ARM 159 FRONT SHOCK ABSORBER 159 FRONT SHOCK ABSORBER MOUNTING 150 STABILIZER MOUNTING 151 STABILIZER MOUNTING 152 STABILIZER MOUNTING 153 STABILIZER MOUNTING 154 FRONT DRIVE SHAFT 155 FRONT LOWER ARM 156 FRONT BHOCK ABSORBER MOUNTING 157 FRONT SHOCK ABSORBER MOUNTING 158 STABILIZER MOUNTING 159 STABILIZER MOUNTING 150 STABILIZER MOUNTING 151 REAR WHEEL HUB 152 STABILIZER MOUNTING 153 STABILIZER MOUNTING 154 FRONT CROSSMEMBER CONDON STADOUGH S	130	DEAD EENDED INNED TRIMBOARD RH WWW	1	\$340.00	\$340.00 +
138 REAR BUMPER PARKING SENSOR 140 REAR BUMPER REFLECTOR LH 141 REAR BUMPER REFLECTOR RH 142 REAR BUMPER SIDE RETAINER LH 142 REAR BUMPER SIDE RETAINER RH 143 REAR BUMPER SIDE RETAINER RH 144 REAR BUMPER SIDE RETAINER RH 145 REAR BUMPER RINFORCEMENT 146 REAR BUMPER UNDER COVER 147 REAR BUMPER UNDER COVER 148 END PANEL 149 END PANEL TOP GARNISH 150 REAR DOOR RH 151 REAR DOOR BLACK TAPE 152 REAR DOOR WEATHERSTRIP RH 153 REAR DOOR WEATHERSTRIP RH 154 FRONT WHEEL RIM 155 FRONT WHEEL HUB 156 FRONT WHEEL HUB 157 FRONT KNUCKLE 158 FRONT LOWER ARM 159 FRONT SHOCK ABSORBER 160 STABILIZER BAR 170 STABILIZER BAR 180 STABILIZER BAR 190 STABILIZ			1		\$770.00 +
140 REAR BUMPER REFLECTOR LH 141 REAR BUMPER REFLECTOR RH 142 REAR BUMPER SIDE RETAINER LH 143 REAR BUMPER SIDE RETAINER RH 144 REAR BUMPER SIDE RETAINER RH 156 0.00 \$60.			1		
141 REAR BUMPER REFLECTOR RH 142 REAR BUMPER TOW COVER 143 REAR BUMPER SIDE RETAINER RH 144 REAR BUMPER SIDE RETAINER RH 145 REAR BUMPER SIDE RETAINER RH 146 REAR BUMPER SIDE RETAINER RH 147 REAR BUMPER RUDER COVER 147 REAR BUMPER UNDER COVER 148 END PANEL 149 END PANEL TOP GARNISH 150 REAR DOOR RH 151 REAR DOOR BLACK TAPE 152 REAR DOOR BLACK TAPE 153 REAR DOOR WEATHERSTRIP RH 153 REAR DOOR WEATHERSTRIP RH 154 FRONT WHEEL RIM 155 FRONT WHEEL HUB 156 FRONT WHEEL HUB 157 FRONT KHUCKLE 158 FRONT LOWER ARM 159 FRONT SHOCK ABSORBER 159 FRONT SHOCK ABSORBER 150 S150.00 160 FRONT SHOCK ABSORBER MOUNTING 161 STABILIZER MOUNTING 162 STABILIZER MOUNTING 163 FRONT URIVE SHAFT 164 FRONT CROSSMEMBER 2 170 REAR WHEEL BARRING 170 S680.00 171 REAR WHEEL HUB 170 S170.00 171 REAR WHEEL HUB 170 S200.00 171 REAR BRAKE DISC 171 REAR BRAKE DISC 172 REAR BRAKE DISC 173 REAR BRAKE DISC 174 REAR BRAKE UNIT			1		\$150.00 +
142 REAR BUMPER TOW COVER 143 REAR BUMPER SIDE RETAINER LH 144 REAR BUMPER SIDE RETAINER RH 145 REAR BUMPER REINFORCEMENT 146 REAR BUMPER RUNDER COVER 1570.00 \$340.00		A CONTRACTOR A CONTRACTOR AND A CONTRACT	1	\$150.00	\$150.00
143 REAR BUMPER SIDE RETAINER LH 144 REAR BUMPER SIDE RETAINER RH 145 REAR BUMPER REINFORCEMENT 146 REAR BUMPER RUNDER COVER 146 REAR BUMPER UNDER COVER 1517 REAR BUMPER UNDER SIDE COVER 152 REAR DOOR RH 153 REAR DOOR BLACK TAPE 153 REAR DOOR WEATHERSTRIP RH 154 FRONT WHEEL RIM 155 FRONT WHEEL BEARING? 156 FRONT WHEEL HUB? 157 FRONT KNUCKLE 158 FRONT LOWER ARM 159 FRONT SHOCK ABSORBER 160 S320.00 170 S200.00 171 STABILIZER BAR? 172 S240.00 173 STABILIZER BAR? 185 S200 174 S200.00 175 FRONT SHOCK ABSORBER MOUNTING 175 FRONT SHOCK ABSORBER MOUNTING 176 FRONT DIVE SHAFT 176 STABILIZER BAR? 185 FRONT TIE ROD 186 STEERING RACK 187 FRONT CROSSMEMBER 197 FRONT CROSSMEMBER 207 S240.00 170 REAR WHEEL RIM 207 S240.00 207 S240.		1.0000000000000000000000000000000000000	1	\$70.00	\$70.00
144 REAR BUMPER SIDE RETAINER RH 145 REAR BUMPER REINFORCEMENT 146 REAR BUMPER REINFORCEMENT 147 REAR BUMPER UNDER COVER 1570.00 \$340.00 \$340.00 \$340.00 \$170.			1	\$60.00	\$60.00 4
145 REAR BUMPER REINFORCEMENT 146 REAR BUMPER UNDER COVER 147 REAR BUMPER UNDER SIDE COVER 148 END PANEL 149 END PANEL TOP GARNISH 150 REAR DOOR RH 151 REAR DOOR BLACK TAPE 152 REAR DOOR LOCK RH 153 REAR DOOR WEATHERSTRIP RH 154 FRONT WHEEL RIM 155 FRONT WHEEL BEARING 156 FRONT WHEEL HUB 157 FRONT KNUCKLE 158 FRONT LOWER ARM 159 FRONT SHOCK ABSORBER 159 STABILIZER BAR 150 STABILIZER BAR 150 STABILIZER MOUNTING 160 STEERING RACK 170 STROND 171 STROND 172 STROND 173 STROND 174 REAR WHEEL RIM 175 STROND 176 STRONT CROSSMEMBER 177 REAR WHEEL BEARING 178 STABLEL BEARING 179 STROND 170 REAR WHEEL BEARING 170 STROND 171 REAR WHEEL BEARING 171 REAR BRAKE CALIPER 174 REAR BRAKE CALIPER 174 REAR BRAKE CALIPER 175 REAR BRAKE CALIPER 175 REAR BRAKE CALIPER 175 REAR BRAKE CALIPER 176 REAR BRAKE CALIPER 177 REAR BRAKE CALIPER 178 REAR BRAKE CALIPER 179 STROND STROND 159 STROND STROND 159 STROND STROND 159 STROND STROND 150			1	\$60.00	\$60.00 ×
146 REAR BUMPER UNDER COVER 147 REAR BUMPER UNDER SIDE COVER 148 END PANEL 149 END PANEL TOP GARNISH 150 REAR DOOR RH 151 REAR DOOR BLACK TAPE 152 REAR DOOR WEATHERSTRIP RH 155 FRONT WHEEL RIM 155 FRONT WHEEL HUB 156 FRONT LOWER ARM 157 FRONT SHOCK ABSORBER 158 FRONT LOWER ARM 159 FRONT SHOCK ABSORBER MOUNTING 159 STABILIZER BAR 160 STABILIZER LINK 170 STABILIZER MOUNTING 171 REAR WHEEL RIM 172 STABILIZER MOUNTING 173 STABILIZER MOUNTING 174 REAR BRAKE DISC 175 REAR BRAKE DISC 176 REAR WHEEL HUB 177 REAR BRAKE DISC 177 REAR BRAKE DISC 178 REAR BRAKE CALIPER 178 STABRAKE UNIT 179 STABLE STABLE ON STABLE		1 \ 1/1/	1	\$340.00	\$340.00 ×
147 REAR BUMPER UNDER SIDE COVER  148 END PANEL  149 END PANEL  150 S915.00 \$ \$15.00 \$ \$1.00 \$			1	\$170.00	\$170.00
148 END PANEL 149 END PANEL TOP GARNISH 150 REAR DOOR RH 151 REAR DOOR BLACK TAPE 152 REAR DOOR LOCK RH 153 REAR DOOR WEATHERSTRIP RH 153 REAR DOOR WEATHERSTRIP RH 156 FRONT WHEEL BEARING? 157 FRONT WHEEL HUB? 158 FRONT LOWER ARM? 159 FRONT SHOCK ABSORBER 159 FRONT SHOCK ABSORBER MOUNTING? 160 FRONT SHOCK ABSORBER MOUNTING? 170 STABILIZER BAR? 180 STABILIZER MOUNTING? 180 STABILIZER MOUNTING? 180 FRONT DRIVE SHAFT? 180 SEQ.00 180 STABILIZER BAR? 180 SEQ.00 181 STABILIZER MOUNTING? 180 SEQ.00 181 STABILIZER MOUNTING? 181 STABILIZER MOUNTING? 182 STABILIZER MOUNTING? 183 STABILIZER MOUNTING? 184 FRONT DRIVE SHAFT? 185 SEQ.00 185 SEG.00 186 STEERING RACK? 186 FRONT TIE ROD 186 STEERING RACK? 187 SEQ.00 187 SEQ.00 187 SEQ.00 188 SEQ.00 189 SEQ.00 189 SEQ.00 180 SE			2	\$160.00	\$320.00
149 END PANEL TOP GARNISH 150 REAR DOOR RH 151 REAR DOOR BLACK TAPE 152 REAR DOOR LOCK RH 153 REAR DOOR WEATHERSTRIP RH 155 FRONT WHEEL RIM 155 FRONT WHEEL HUB 156 FRONT WHEEL HUB 157 FRONT SHOCK ABSORBER 158 FRONT SHOCK ABSORBER 159 FRONT SHOCK ABSORBER MOUNTING 160 STABILIZER LINK 160 STABILIZER LINK 170 STABILIZER MOUNTING 171 REAR WHEEL RIM 172 STABILIZER WHEEL RIM 173 STABILIZER WHEEL RIM 174 STABILIZER WHEEL RIM 175 STABILIZER SUPPORT REINFORCEMENT 176 STABILIZER MOUNTING 177 STABILIZER WHEEL RIM 178 STABILIZER SUPPORT REINFORCEMENT 179 STABILIZER WHEEL RIM 170 STABILIZER WHEEL RIM 170 STABILIZER WHEEL RIM 171 REAR WHEEL RIM 172 STABILIZER WHEEL RIM 173 REAR BRAKE CALIPER 174 REAR BRAKE UNIT 175 STABILIZER WHEEL RIM 176 STABILIZER WHEEL RIM 177 STABILIZER SUPPORT REINFORCEMENT 178 REAR BRAKE UNIT 179 STABILIZER WHEEL RIM 150 STABILIZER WHITH 150 STABILIZER WHEEL RIM 150			1	\$915.00	\$915.00 +
150 REAR DOOR RH 151 REAR DOOR BLACK TAPE 152 REAR DOOR LOCK RH 153 REAR DOOR WEATHERSTRIP RH 154 FRONT WHEEL RIM 155 FRONT WHEEL BEARING 155 FRONT WHEEL BEARING 156 FRONT WHEEL HUB 157 FRONT KNUCKLE 158 FRONT LOWER ARM 159 FRONT SHOCK ABSORBER 160 FRONT SHOCK ABSORBER MOUNTING 161 STABILIZER BAR 162 STABILIZER MOUNTING 163 STABILIZER MOUNTING 164 FRONT DRIVE SHAFT 175 FRONT CROSSMEMBER 186 FRONT CROSSMEMBER 1970 SERONUS SERONO 186 STEERING RACK 1970 SERONO 186 STEERING RACK 1970 SERONO 186 STEERING RACK 1970 SERONO 1870 SERONO		A SECOND CONTRACTOR OF THE CON	1	\$240.00	\$240.00 *
151 REAR DOOR BLACK TAPE 152 REAR DOOR LOCK RH 153 REAR DOOR WEATHERSTRIP RH 153 REAR DOOR WEATHERSTRIP RH 154 FRONT WHEEL RIM 155 FRONT WHEEL BEARING? 156 FRONT WHEEL BEARING? 157 FRONT WHEEL HUB 158 FRONT LOWER ARM 159 FRONT SHOCK ABSORBER 159 FRONT SHOCK ABSORBER 160 FRONT SHOCK ABSORBER MOUNTING 161 STABILIZER BAR 162 STABILIZER BAR 165 FRONT DRIVE SHAFT 176 STERRING RACK 176 FRONT CROSSMEMBER 177 REAR WHEEL HUB 177 REAR WHEEL HUB 1852.00 1860.00 18790.00 181980.00 18280.00 18280.00 18280.00 18280.00 18280.00 18280.00 18390.00 18480.00 18480.00 18480.00 18590.00 1869 STEERING RACK 1970.00 1860.00 1870.00 1860.0		Commission of the commission o	1	\$950.00	\$950.00
152 REAR DOOR LOCK RH 153 REAR DOOR WEATHERSTRIP RH 154 FRONT WHEEL RIM 155 FRONT WHEEL BEARING? 156 FRONT WHEEL HUB? 157 FRONT KNUCKLE 158 FRONT LOWER ARM? 159 FRONT SHOCK ABSORBER 160 FRONT SHOCK ABSORBER MOUNTING? 161 STABILIZER BAR? 162 STABILIZER LINK? 163 STABILIZER MOUNTING? 164 FRONT DRIVE SHAFT 165 FRONT TIE ROD 166 STEERING RACK 176 FRONT CROSSMEMBER 177 REAR WHEEL RIM RTH LATT 187 SA30.00 1880.00 1980.00 199		¥	1	\$52.00	\$52.00
153 REAR DOOR WEATHERSTRIP RH		I NOT NEC	1	\$200.00	\$200.00 *
154 FRONT WHEEL RIM 2 \$680.00 \$1,360.00 \$1,360.00 \$155 FRONT WHEEL BEARING? 2 \$340.00 \$680.00 \$1,080.00 \$1		The Mark State of the Control of the	1	\$170.00	\$170.00 🔀
155 FRONT WHEEL BEARING? 156 FRONT WHEEL HUB 157 FRONT KNUCKLE 158 FRONT LOWER ARM 159 FRONT SHOCK ABSORBER 160 FRONT SHOCK ABSORBER MOUNTING 161 STABILIZER BAR 162 STABILIZER LINK 163 STABILIZER MOUNTING 164 FRONT DRIVE SHAFT 165 FRONT TIE ROD 166 STEERING RACK 176 FRONT CROSSMEMBER 187 SHOULD SUBJECT TO STABLE AND SUBJECT TO STABLE AND SUBJECT TO STABLE AND SUBJECT TO STABLE AND SUBJECT TO SUBJECT TO STABLE AND SUBJECT TO S		0	2	\$680.00	\$1,360.00
156 FRONT WHEEL HUB 157 FRONT KNUCKLE 158 FRONT LOWER ARM 159 FRONT SHOCK ABSORBER 160 FRONT SHOCK ABSORBER MOUNTING 161 STABILIZER BAR 162 STABILIZER LINK 163 STABILIZER MOUNTING 164 FRONT DRIVE SHAFT 176 FRONT CROSSMEMBER 187 STABILIZER ROCK 186 FRONT CROSSMEMBER 187 STABILIZER ROCK 197 FRONT CROSSMEMBER SUPPORT REINFORCEMENT 198 SA40.00 1198 FRONT CROSSMEMBER SUPPORT REINFORCEMENT 109 REAR WHEEL RIM 11 SA40.00 12 SA40.00 13 SA40.00 14 SA40.00 15 SA40.00 16 STEERING ROCK 11 SA40.00 16 STEERING ROCK 12 SA40.00 17 FRONT CROSSMEMBER SUPPORT REINFORCEMENT 11 SA40.00 17 SA40.00 18 SA40.00 18 SA40.00 18 SA40.00 198			2	\$420.00	\$840.00
157 FRONT KNUCKLE  158 FRONT LOWER ARM  159 FRONT SHOCK ABSORBER  160 FRONT SHOCK ABSORBER MOUNTING  161 STABILIZER BAR  162 STABILIZER LINK  163 STABILIZER MOUNTING  164 FRONT DRIVE SHAFT  165 FRONT TIE ROD  166 STEERING RACK  176 FRONT CROSSMEMBER  187 STABILIZER RIM  1980.00  108 STABILIZER ROCK  109 STABILIZER ROCK  109 STABILIZER MOUNTING  100 STABILIZER MOUNTING  11 STABILIZER MOUNTING  12 STABILIZER MOUNTING  13 STABILIZER MOUNTING  14 STABILIZER MOUNTING  15 STABILIZER MOUNTING  16 STEERING RACK  17 STABILIZER MOUNTING  18 STABILIZER MOUNTING  19 STABILIZER MOUNTING  10 STABILIZER MOUNTING  11 STABILIZER MOUNTING  11 STABILIZER MOUNTING  12 STABILIZER MOUNTING  13 STABILIZER MOUNTING  14 FRONT DRIVE SHAFT  15 STABILIZER MOUNTING  165 FRONT CROSSMEMBER  166 STEERING RACK  176 STABILIZER MOUNTING  17 STABILIZER MOUNTING  18 STABILIZER MOUNTING  19 STABILIZER MOUNTING  10 STABILIZER MOUNTING  11 STABILIZER MOUNTING  11 STABILIZER MOUNTING  12 STABILIZER LINK  14 STABOLOO  15 STABILIZER MOUNTING  16 STEERING RACK  17 STABOLOO			2	\$340.00	\$680.00
158 FRONT LOWER ARM 2 2 \$395.00 \$790.00 \$159 FRONT SHOCK ABSORBER 2 2 \$330.00 \$660.00 \$160 FRONT SHOCK ABSORBER MOUNTING 2 \$145.00 \$290.00 \$28		7	2	\$540.00	
159 FRONT SHOCK ABSORBER 2 \$330.00 \$660.00 7 160 FRONT SHOCK ABSORBER MOUNTING 2 \$145.00 \$290.00 7 161 STABILIZER BAR 2 1 \$280.00 \$280.00 \$280.00 7 162 STABILIZER LINK 2 2 \$240.00 \$480.00 7 163 STABILIZER MOUNTING 1 \$52.00 \$52.00 7 164 FRONT DRIVE SHAFT 2 \$990.00 \$1,980.00 7 165 FRONT TIE ROD 2 \$100.00 \$200.00 7 166 STEERING RACK 1 \$2,280.00 \$2,280.00 7 167 FRONT CROSSMEMBER 1 \$760.00 \$760.00 7 168 FRONT CROSSMEMBER SUPPORT REINFORCEMENT 1 \$410.00 \$410.00 7 169 REAR WHEEL RIM RATE TO 2 \$330.00 \$680.00 7 170 REAR WHEEL BAERING RATE 2 \$340.00 \$680.00 7 171 REAR WHEEL HUB RATE 2 \$330.00 \$660.00 7 172 REAR BRAKE DISC 2 \$200.00 \$400.00 \$760.00 7 173 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7 174 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7 175 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7 176 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7 177 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7 178 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7 179 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7 170 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7 171 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7 172 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7 174 REAR BRAKE UNIT 2 \$340.00 \$680.00 7 175 REAR BRAKE UNIT 2 \$340.00 \$680.00 7 176 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7 177 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7 178 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7 179 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7 170 REAR BRAKE CALIPER 2 \$340.00 \$680.00 7		3	2	\$395.00	1
160 FRONT SHOCK ABSORBER MOUNTING 2 \$145.00 \$290.00 161 STABILIZER BAR 1 \$280.00 \$280.00 162 STABILIZER LINK 163 STABILIZER MOUNTING 164 FRONT DRIVE SHAFT 170 REAR WHEEL HUB 170 REAR BRAKE DISC 171 REAR BRAKE CALIPER 174 REAR BRAKE UNIT 2 \$140.00 \$200.00 1		0	2	\$330.00	
161 STABILIZER BAR 2			2	\$145.00	
162 STABILIZER LINK       2       \$240.00       \$480.00         163 STABILIZER MOUNTING       1       \$52.00       \$52.00         164 FRONT DRIVE SHAFT       2       \$990.00       \$1,980.00         165 FRONT TIE ROD       2       \$100.00       \$200.00         166 STEERING RACK       1       \$2,280.00       \$2,280.00         167 FRONT CROSSMEMBER       1       \$760.00       \$760.00         168 FRONT CROSSMEMBER SUPPORT REINFORCEMENT       1       \$410.00       \$410.00         169 REAR WHEEL RIM       RH       2       \$680.00       \$1,360.00         170 REAR WHEEL BAERING       RH       2       \$340.00       \$680.00         171 REAR WHEEL HUB       2       \$330.00       \$660.00       \$850.00         172 REAR BRAKE DISC       2       \$200.00       \$400.00       \$850.00         173 REAR BRAKE CALIPER       2       \$340.00       \$680.00       \$190.00       \$190.00         174 REAR BRAKE UNIT       2       \$340.00       \$190.00       \$190.00       \$190.00       \$190.00       \$190.00       \$190.00       \$190.00       \$190.00       \$190.00       \$190.00       \$190.00       \$190.00       \$190.00       \$190.00       \$190.00       \$190.00       \$1		0	1	\$280.00	
1 \$52.00 \$52.00 \$1,980.00 \$1,980.00 \$1,980.00 \$1,980.00 \$200.00 \$1,980.00 \$200.00 \$1,980.00 \$200.00 \$1,980.00 \$200.00 \$1,980.00 \$200.0		)	2	\$240.00	
164 FRONT DRIVE SHAFT 165 FRONT TIE ROD 2 \$100.00 166 STEERING RACK 1 \$2,280.00 167 FRONT CROSSMEMBER 1 \$760.00 168 FRONT CROSSMEMBER SUPPORT REINFORCEMENT 1 \$410.00 169 REAR WHEEL RIM 170 REAR WHEEL BAERING 171 REAR WHEEL HUB 172 REAR BRAKE DISC 173 REAR BRAKE CALIPER 174 REAR BRAKE UNIT 2 \$990.00 \$1,980.00 \$200.00 \$200.00 \$200.00 \$760.00 \$760.00 \$760.00 \$1,360.00 \$680.00 \$680.00 \$200.00 \$400.00 \$680.00 \$1,360.00 \$680.00 \$680.00 \$1,360.00 \$1,360.00 \$680.00 \$1,360.00 \$1,3			1	\$52.00	
165 FRONT TIE ROD 166 STEERING RACK 1 \$2,280.00 167 FRONT CROSSMEMBER 1 \$760.00 168 FRONT CROSSMEMBER SUPPORT REINFORCEMENT 1 \$410.00 169 REAR WHEEL RIM 170 REAR WHEEL BAERING 171 REAR WHEEL HUB 172 REAR BRAKE DISC 173 REAR BRAKE CALIPER 174 REAR BRAKE UNIT 182,280.00 17 \$2,280.00 17 \$410.00 \$410.00 \$410.00 \$680.00 \$680.00 \$660.00			2	\$990.00	
1 \$2,280.00 \$2,280.00 \$760.00		7	2	\$100.00	7
167 FRONT CROSSMEMBER ? 1 \$760.00 \$760.00 \$100 \$100 \$100 \$100 \$100 \$100 \$100		1	1	\$2,280.00	
168 FRONT CROSSMEMBER SUPPORT REINFORCEMENT 1 \$410.00 \$410.00 \$1,360.00 \$0.00 \$1,360.0			1	\$760.00	
169 REAR WHEEL RIM RH 24 2 \$680.00 \$1,360.00 \$680.00 ?  170 REAR WHEEL BAERING RH 2 2 \$340.00 \$660.00 ?  171 REAR WHEEL HUB RH 2 2 \$330.00 \$660.00 \$660.00 \$  172 REAR BRAKE DISC 2 2 \$200.00 \$400.00 \$680.00 \$  173 REAR BRAKE CALIPER 2 \$340.00 \$680.00 \$  174 REAR BRAKE UNIT 2 \$340.00 \$680.00 \$  \$1,360.00 \$680.00 \$  \$680.00 \$  \$1,360.00 \$680.00 \$  \$660.00 \$  \$1,360.00 \$680.00 \$  \$660.00 \$  \$1,360.00 \$660.00 \$  \$660.00 \$  \$1,360.00 \$  \$1,360.00	16	8 FRONT CROSSMEMBER SUPPORT REINFORCEMEN	IT · 1		
170 REAR WHEEL BAERING RH  2 \$340.00 \$680.00 \$  171 REAR WHEEL HUB RH  2 \$330.00 \$660.00 \$  172 REAR BRAKE DISC  173 REAR BRAKE CALIPER  174 REAR BRAKE UNIT  2 \$340.00 \$680.00 \$  2 \$400.00 \$  2 \$400.00 \$  2 \$400.00 \$  2 \$400.00 \$  2 \$400.00 \$  2 \$400.00 \$  3 \$400.00 \$  3 \$400.00 \$  4 \$400.00 \$  5 \$400.00 \$  5 \$400.00 \$  5 \$400.00 \$  6 \$400.0		D. I. L. L	2		
171 REAR WHEEL HUB 172 REAR BRAKE DISC 173 REAR BRAKE CALIPER 174 REAR BRAKE UNIT 2 \$330.00 \$660.00 \$ 2 \$200.00 \$4400.00 \$ 2 \$425.00 \$850.00 \$ 2 \$340.00 \$ 3400.00 \$ 3550.00 \$ 3			2		
172 REAR BRAKE DISC  173 REAR BRAKE CALIPER  174 REAR BRAKE UNIT  2 \$200.00 \$400.00 \$  \$850.00 \$  2 \$340.00 \$  \$680.00 \$  \$190.00 \$  \$190.00 \$		8.17	2		
173 REAR BRAKE CALIPER 174 REAR BRAKE UNIT 2 \$425.00 \$850.00 \$ 2 \$340.00 \$ 5680.00 \$ 5190.00 \$ 5			2	i i	
174 REAR BRAKE UNIT 2 \$340.00 \$680.00 \$			2		
0 00000 \$19000	17	74 REAR BRAKE UNIT			
	17	75 REAR BRAKE HOSE	2	\$95.00	\$190.00

176 REAR ABS SENSOR He NEW	2	\$240.00	\$480.00
211	2	\$420.00	\$840.00
1// REAR KNOCKEL	2	\$330.00	\$660.00 ?
178 REAR SHOCK ABSORBER ZH	2	\$160.00	\$320.00 *
179 REAR SHOCK ABSORBER MOUNTING NOT NEW	2	\$340.00	\$680.00
180 REAR UPPER ARM RH ?	2	\$330.00	\$660.00
101 REAR LOVER ARM	2	\$320.00	\$640.00
182 REAR TRAILING ARM	2	\$240.00	\$480.00
183 REAR LATERAL ANIVI	1	\$850.00	\$850.00
184 REAR AXLE FRAME	1	\$850.00	\$850.00 ×
185 REAR EXHAUST SILENCEN	1	\$765.00	\$765.00 *
100 0117 271 11 100 1 1 1 1	1	\$60.00	\$60.00
187 EXHAUST RUBBER MOUNTING MM	1	\$1,445.00	\$1,445.00 🗡
188 FUEL TANK THOU PER	1	\$285.00	\$285.00
189 FUEL TANK PROTECTION J 190 SRS IMPACT SENSOR Activated	1	\$285.00	\$285.00
~	1	\$850.00	\$850.00
191 AIRBAG ECU	1	\$2,150.00	\$2,150.00
192 AIRBAG - DRIVER	1	\$520.00	\$520.00
193 AIRBAG - CLOCK SPRING DRIVER Activated	1	\$1,100.00	\$1,100.00
194 AIRBAG - DRIVER KNEE	1	\$1,700.00	\$1,700.00
195 AIRBAG - PASSENGER	1	\$580.00	\$580.00
196 FRONT SEAT BELT LH	1	\$580.00	\$580.00
197 FRONT SEAT BELT RH	1	\$200.00	\$200.00
198 FRONT SEAT BELT BUCKLE LH The	1	\$200.00	\$200.00
199 FRONT SEAT BELT BUCKLE RH	1	\$580.00	\$580.00 8
200 REAR SEAT BELT LH Zure un	1	\$580.00	\$580.00 +
201 REAR SEAT BELT RH	1	\$3,300.00	\$3,300.00
202 DASHBOARD PANEL TON	1	\$7,650.00	\$7,650.00
203 HYBRID BATTERY XIC NEC	1	Ψ1,000.00	**,1000****
		SUB-TOTAL	\$114,136.00
		+ 10%	\$11,413.60
		PARTS TOTAL	\$125,549.60
		.,,,,,,	
OMETT PARTS	QTY	UNIT PRICE	GROSS PRICE
SINETT PARTS  1 SEALANT - FRONT WINDSCREEN ZNIC	1	\$80.00	\$80.00 90
2 SEALANT - REAR WINDSCREEN	1	\$80.00	\$80.00 40.
3 SEALANT - BODY JOINT Nov	1	\$80.00	\$80.00 40.
	1	\$120.00	\$120.00 40.
7 000001111	1	\$250.00	\$250.00
5 ENGINE OIL	1	\$80.00	\$80.00
6 BRAKE FLUID 7 FRONT NUMBER PLATE MISSING	1	\$60.00	\$60.00 40.
a FDONTTYPELL The m		\$280.00	\$280.00+
The state of the s	1	\$200.00;	4-4444
A FRONT TYPE PH	1	\$280.00	\$280.00 4
9 FRONT TYRE RH	1 1 1		\$280.00 X
10 REAR TYRE LH	1 1 1	\$280.00	\$280.00 4
1.4 64/	1 1 1 1	\$280.00 \$280.00	\$280.00 X

			SNN 1160A - MAZDA 3
No.	1	\$60.00	\$60.00 20
13 FRONT BUMPER RIVET SET	1	\$90.00	\$90.00 20.
14 FRONT BUMPER CLIPS SET /W	1	\$180.00	\$180.00
15 FRONT FENDER COWLING CLIPS SET	1	\$90.00	\$90.00 ×
16 BOOLTID TRIM CLIPS SET HE HEL	1	\$90.00	\$90.00
17 REAR BUMPER CLIPS SET Lie M	1	\$60.00	\$60.00
18 END PANEL GARNISH CLIPS SET Not NO	1	\$180.00	\$180.00 🗶
19 REAR FENDER INNER TRIM CLIPS SET NOW NEW	1	\$180.00	\$180.00×
20 REAR FENDER COWLING CLIPS SETT WM	1	\$80.00	\$80.00 × .
21 REAR DOOR TRIM CLIPS SET Not her		4,00.00	
		S/N TOTAL	\$2,970.00
LABOUR:			GROSS PRICE
1 TO REMOVE & REFIT FRONT WINDSCREEN GLASS			\$150.00 120
2 TO REMOVE & REFIT REAR WINDSCREEN GLASS			\$150.00 120.
3 TO CHECK & RECTIFY WIRING.			\$120.00 60
4 TO REMOVE & REPLACE FRONT PARKING SENSOR	₹&		\$80.00 50
DIAGNOSE FUNCTION			\$80,00 X
5 TO REMOVE & REPLACE REAR PARKING SENSOR DIAGNOSE FUNCTION			\$350.00 150
6 TO REPROGRAMME AFTER THE ACCIDENT REPAI WORKS	R		3
7 TO REMOVE & REFIT INTERCOOLER & ATTACHEM	ENT		\$250.00
8 TO REMOVE & REFIT AIRCON CONDENSER & REF	ILL GAS		\$250.00 60
9 TO REMOVE & REFIT RADIATOR & AFFECTED AFIT	TING		\$250.00 60
10 TO TRANSFER REAR DOOR MECHANISM & FITTIN	G		\$150.00 <b>\( \)</b> \$150.00 <b>6</b> 0
11 TO TRANSFER BOOTLID MECHANISM & FITTING			
12 TO REMOVE & REFIT C-PILLAR TRIMMING & FITTII REAR SEAT & CUSHION IN ORDER TO ASSIST WO LOAD	NG, RK		\$650.00 80.
13 TO CONDUCT CUT, PANEL BEAT, REPAIR AND REP ACCIDENT AFFECTED ITEMS (FRONT)	PLACE		\$1,500.00 1000
14 TO CONDUCT CUT, PANEL BEAT, REPAIR AND REF ACCIDENT AFFECTED ITEMS (REAR)	PLACE		\$150.00 60
15 TO RUST PROOFING			\$1,500.00 800
16 TO PUTTY & RESPRAY PAINTING ON ACCIDENT AFFECTED AREAS (FRONT)			\$2,100.00 600,
17 TO PUTTY & RESPRAY PAINTING ON ACCIDENT AFFECTED AREAS (REAR)			\$450.00
18 TO REMOVE & REFIT FRONT UNDERCARRIAGE DITEMS			\$450.00
19 TO REMOVE & REFIT REAR UNDERCARRIAGE DA	AMAGE		\$120.00 \$0
20 TO CHECK WHEEL ALIGNMENT			\$80.00
21 TYRE BALANCING			\$650.00 250
22 TO REMOVE & REPLACE DASHBOARD & TRIMMII	NG		\$650.00 350.
20 TO DEMOVE & REPLACE SRS SYSTEM & SEAT B	ELT		00.00

23 TO REMOVE & REPLACE SRS SYSTEM & SEAT BELT

24 TO REMOVE & REFIT ENGINE & ATTACHMENT.

TO OVERHAUL ENGINE

\$3,000.00 ?

25 TO REMOVE & FUEL FILLER & FITTING TO ASSIST WORK 26 TO REMOVE & REAR EXHAUST & FITTING

\$250.00 \$650.00 1

LABOUR TOTAL

\$16,280.00

GRAND TOTAL BEFORE GST

\$144,799.60

Adrian hing.

Als 24/12/24.

24 Days.

Mol Anthonsed.

Exess: \$2K,

LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature: